### AGREEMENT FOR LANDSCAPE MAINTENANCE SERVICES FOR Weed Abatement and Trash Removal Service RFB No. 7911

#### MERRIE (MARY) SCOTT dba SCOTT TRACTOR

On this \_\_\_\_\_ day of \_\_\_\_\_, 2022, ("Effective Date") the CITY OF RIVERSIDE, a California charter city and municipal corporation ("City"), and MERRIE (MARY) SCOTT a sole proprietor doing business as SCOTT TRACTOR, ("Contractor"), mutually agree as follows:

1. <u>Scope of Services</u>. Contractor shall furnish all labor, materials and equipment for and perform the work of Landscape Maintenance Services for Weed Abatement and Trash Removal Service RFB #7911 ("the Services"). Contractor shall perform the Services in accordance with the provisions and requirements of the following Contract Documents: City of Riverside Public Utilities Department Request for Proposals for Weed Abatement And Trash Removal At Various Public Utilities Properties dated April 26, 2022 ("**RFB No. 7911**"), the General Conditions and Technical Specifications contained therein, this Agreement and all other documents, maps, texts and items referred to in the foregoing documents. These Contract Documents are incorporated herein by this reference and are intended to be correlative and constitute Contractor's performance obligations. The specific terms and conditions of this Agreement shall control and have precedence over any contradictory or inconsistent terms and conditions included in the other Contract Documents and shall be controlling in questions of interpretation.

2. <u>Term</u>. The term of the Agreement shall be from July 1, 2022, through June 30, 2025, unless earlier terminated as provided herein.

3. <u>Compensation</u>. City shall pay Contractor for the performance of the Services during the initial term of this Agreement a Contract Price not to exceed Two Hundred Seventy Two Thousand Seven Hundred Forty Dollars (\$272,740.00) annually. City shall pay Contractor for Services performed to City's satisfaction on a monthly basis in accordance with the provisions of the RFB, and the Compensation Schedule attached hereto as Exhibit "A" and incorporated herein by this reference. If the term of the Agreement is extended, Contractor's compensation for the extended term shall be mutually agreed upon in writing by the parties.

4. <u>Extra Material</u>. Contractor shall not be compensated for any extra materials used or time expended over and above the Contract Price, unless prior written approval for the same has been granted by City. In addition, Contractor shall only be compensated for services actually rendered.

5. <u>Warranties</u>. Contractor shall obtain in the name of City, or transfer or assign to City or City's designee, any and all warranties or guarantees which Contractor obtained from manufacturers or suppliers, and further agrees to perform the Work in such a manner so as to preserve any and all such warranties.

6. <u>General Compliance with Laws</u>. Contractor shall keep fully informed of federal, state and local laws and ordinances and regulations which in any manner affect those employed by Contractor, or in any way affect the performance of Services by Contractor pursuant to this Agreement. Contractor shall at all times observe and comply with all such laws, ordinances and regulations, and shall be solely responsible for any failure to comply with all applicable laws, ordinances and regulations.

7. <u>Business Tax and Penalties</u>. Contractor acknowledges and agrees that with respect to any business tax or penalties thereon, utility charges, invoiced fee or other debt which is owed, or which becomes owed, by Contractor to City, City reserves the right to withhold and offset said amounts from any payments, refunds or reimbursements owed by City to Contractor under the Agreement. Notice of such withholding and offset shall promptly be given to Contractor by City in writing. In the event of a dispute as to the amount owed or whether such amount is owed to City, City will hold such disputed amount until either the appropriate appeal process has been completed or until the dispute has been resolved.

8. <u>Business License</u>. As a condition of this Agreement, Contractor shall secure a business license to operate in the City of Riverside, and shall also secure any other licenses or permits which may be required.

9. <u>Worker's Compensation Insurance</u>. By executing this Agreement, Contractor certifies that Contractor is aware of and will comply with Section 3700 of the Labor Code of the State of California requiring every employer to be insured against liability for workers' compensation or to undertake self-insurance before commencing any of the work. Contractor shall carry the insurance or provide for self-insurance required by California law to protect said Contractor from claims under the Workers Compensation Act.

Prior to City's execution of this Agreement, Contractor shall file with City either (1) a certificate of insurance or self-insurance evidencing that such insurance is in effect, or that Contractor is self-insured for such coverage; or (2) a certified statement that Contractor has no employees, and acknowledging that if Contractor does employ any person, the necessary certificate of insurance will immediately be filed with City. Any certificate filed with the City shall provide that City shall be given ten (10) days prior written notice before modification or cancellation thereof.

Contractor's workers' compensation carrier shall be authorized to transact insurance business in the State of California with a policy holder's rating of "A" or higher and a Financial Class VII or larger.

10. <u>Commercial General Liability and Automobile Liability Insurance</u>. Prior to City's execution of this Agreement, Contractor shall secure, and shall thereafter maintain until completion of the Agreement, such commercial general and automobile liability insurance as shall protect Contractor from claims for damages for personal injury, including accidental death, as well as from claims for property damage which may arise from or which may concern operations under this Agreement, whether such operations be by or on behalf of Contractor, any

subcontractor or anyone directly or indirectly employed by, connected with or acting for or on behalf of any of them.

All liability insurance shall be issued by an insurance company or companies authorized to transact liability insurance business in the State of California with a policy holder's rating of A or higher and a Financial Class of VII or larger and shall cover commercial general and automobile liability for both bodily injury (including death) and property damage, including but not limited to aggregate products, aggregate operations, aggregate protective and aggregate contractual with the following minimum limits:

Commercial General	\$1,000,000 per occurrence
	\$2,000,000 aggregate
Automobile	\$1,000,000 per occurrence

Policies or original certificates of insurance along with additional insured endorsement acceptable to City, evidencing the coverage required by this Agreement for both commercial general and automobile liability, shall be filed with City and shall include City as an additional insured. The policy or policies shall be in the usual form of public liability insurance, but shall also include the following provisions:

Solely for Services performed by and on behalf of the named insured for the City of Riverside, it is agreed that the City of Riverside and its officers and employees are added as additional insureds under this policy.

The insurance policy or policies shall also comply with the following provisions:

- a. Policies shall include premises/operations, products completed operations, independent contractors, owners and contractors' protection, broad form contractual, personal injury with employment exclusion deleted, and broad form property damage.
- b. The policy shall be endorsed to waive any right of subrogation against the City and its subcontractors, employees, officers, agents and directors for work performed under this Agreement.
- c. If policies are written on a claims made basis, the certificate should so specify and the policy must continue in force for one year after completion of the project. The retroactive date of the coverage must also be listed.
- d. The policy shall specify that the insurance provided by Contractor will be considered primary and not contributory to any other insurance available to the City of Riverside. Contractor shall provide Form No. CG 20010413 to City.

11. <u>Bonds</u>. Prior to City's execution of this Agreement, Contractor shall furnish City with two completed surety bonds (on bond forms provided by City), one as security for the faithful performance of this Agreement and one as security for the payment of all persons

performing labor and furnishing materials in connection with this Agreement. Both bonds shall be in the amount of 100% of the Contract Price and shall be subscribed by a corporate surety which is authorized to transact surety insurance business in the State of California with a policy holder's rating of A or higher and a Financial Class VII or larger. Should any bond or surety become insufficient, Contractor shall furnish City with new bonds within 10 days after receiving notice from City. No payments will be due or paid under this Agreement until any and all bond deficiencies have been remedied. Contractor by execution of this Agreement acknowledges that the bonds are not Contract Documents but are separate obligations.

12. <u>Termination</u>. City and Contractor shall have the right to terminate any or all of Contractor's Services and work covered by this Agreement at any time upon thirty (30) calendar day's written notice to Contractor. In the event of such termination, Contractor shall submit Contractor's final written statement of the amount of services provided as of the date of such termination for payment by the City.

Notwithstanding the foregoing, the City may terminate Contractor's performance of this Agreement upon five (5) calendar day's written notice if:

- a. Contractor fails to promptly begin performance of the Services; or
- b. Contractor fails to perform the Services in accordance with the Contract Documents, including conforming to applicable standards set forth therein, or refuses to remove and replace rejected materials or unacceptable work; or
- c. Contractor discontinues performance of the Services; or
- d. Contractor fails to make payment to subcontractors for materials or labor in accordance with applicable law; or
- e. Contractor disregards laws, ordinances, or rules, regulations, or orders of a public authority having jurisdiction; or
- f. Contractor otherwise is guilty of breach of a provision of this Agreement; or
- g. Contractor becomes insolvent, is adjudicated bankrupt, or makes a general assignment for the benefit of creditors and fails to provide City with adequate assurances of Contractor's ability to satisfy its contractual obligations.

A receiver, trustee, or other judicial officer shall not have any right, title, or interest in or to this Agreement. Upon that person's appointment, City has, at its option and sole discretion, the right to immediately cancel the Agreement and declare it null and void.

13. <u>Indemnification</u>. Except as to the sole negligence, or willful misconduct of City, Contractor shall defend, indemnify and hold the City, its officers and employees, harmless from any and all loss, damage, claim for damage, liability, expense or cost, including attorney's fees, which arises out of or is in any way connected with the performance of work under this

Agreement by Contractor or any of Contractor's employees, agents or subcontractors and from all claims by Contractor's employees, subcontractors and agents for compensation for services rendered to Contractor in the performance of this Agreement, notwithstanding that City may have benefited from their services. This indemnification provision shall apply to any acts or omissions, willful misconduct or negligent conduct, whether active or passive, on the part of Contractor or any of the Contractor's employees, subcontractors or agents.

The parties expressly agree that any payment, attorney's fee, costs or expense City incurs or makes to or on behalf of an injured employee under the City's self-administered workers' compensation is included as a loss, expense or cost for the purposes of this Section, and that this Section shall survive the expiration or early termination of the Agreement.

14. <u>Defense Obligation</u>. Contractor agrees, at its cost and expense, to promptly defend the City and the City's employees, officers, managers, agents, and council members (collectively the "Parties to be defended") from and against any and all claims, allegations, lawsuits or other legal proceedings which arise out of, or are related to , or are in any manner connected with: (1) the work, activities operations, or duties of Contractor, or of anyone employed by or working under the Contractor, or (2) any breach of this Agreement by Contractor. This duty to defend shall apply whether or not such claims, allegations, lawsuits or proceedings have merit or are meritless or, which involve claims or allegations that any of the Parties to be defended were actively, passively or concurrently negligent, or which otherwise assert that the parties to be defended are responsible, in whole or in part, for any loss, damage or injury. Contractor agrees to provide this defense immediately upon written notice from the City, and with well qualified, adequately insured and experienced legal counsel acceptable to the City.

15. <u>Non-Discrimination</u>. During Consultant's performance of this Agreement, Consultant shall not discriminate on the grounds of race, religious creed, color, national origin, ancestry, age, physical disability, mental disability, medical condition, including the medical condition of Acquired Immune Deficiency Syndrome (AIDS) or any condition related thereto, marital status, sex, genetic information, gender, gender identity, gender expression, or sexual orientation, military and veteran status, in the selection and retention of employees and subcontractors and the procurement of materials and equipment, except as provided in Section 12940 of the California Government Code. Further, Consultant agrees to conform to the requirements of the Americans with Disabilities Act in the performance of this Agreement.

16. <u>Prevailing Wage</u>. Pursuant to Section 1771 of the California Labor Code, Contractor and all subcontractors are required to pay the general prevailing rates of per diem wages, overtime and holiday wages as determined by the Director of the Department of Industrial Relations and implemented by Resolution No. 13346 of the City Council of the City of Riverside. The Director's determination of prevailing wage rates is available on-line at <u>www.dir.ca.gov/dlsr/DPreWageDetermination.htm</u>, and is referred to and made a part hereof as though fully set forth herein.

Per Senate Bill 854 (2014), Contactor and subcontractors shall register with the Department of Industrial Relations (DIR) in order to bid and perform public works projects.

Contractors and subcontractors on all public works projects shall submit electronic certified payrolls to the Labor Commissioner and City unless excused from this requirement.

Contractor is aware of and stipulates that Contractor will also comply with the following sections of the California Labor Code:

- a. Section 1775 prescribing sanctions for failure to pay prevailing wage rates;
- b. Section 1776 requiring the making, keeping and disclosing of detailed payroll records and prescribing sanctions for failure to do so;
- c. Section 1777.5 prescribing the terms and conditions for employing registered apprentices;
- d. Section 1810 providing that eight hours of labor shall be a day's work; and
- e. Section 1813 prescribing sanctions for violations of the provisions concerning eight-hour work days and forty-hour work weeks.
- f. Sections 1725.5 and 1771.1 requiring all general contractors and subcontractors to be registered with DIR. Registration can be accomplished through the DIR website by using this link: <u>http://www.dir.ca.gov/Public-Works/PublicWorks.html</u>.

17. <u>Notices</u>. Service of any notices, bills, invoices or other documents required or permitted under this Agreement shall be sufficient if sent by one party to the other by United States mail, postage prepaid and addressed as follows:

<u>City</u>

Contractor

City of Riverside	Merrie (Mary) Scott
Public Utilities Director	dba Scott Tractor
3900 Main Street	P.O. Box 478
Riverside, California 92522	Bloomington, CA 92316

18. <u>Venue and Attorney's Fees</u>. Any action at law or in equity brought by either of the parties hereto for the purpose of enforcing a right or rights provided for by this Agreement shall be tried in a court of competent jurisdiction in the County of Riverside, State of California, and the parties hereby waive all provisions of law providing for a change of venue in such proceedings to any other county. In the event either party hereto shall bring suit to enforce any term of this Agreement or to recover any damages for and on account of breach of any term or condition of this Agreement, it is mutually agreed all parties shall bear their own attorney's fees.

19. <u>Independent Contractor</u>. Contractor shall at all times during its performance of the Work retain its status as an independent contractor. Contractor's employees and agents shall under no circumstances be considered or held to be employees or agents of City and City shall have no obligation to pay or withhold state or federal taxes or provide workers' compensation or unemployment insurance for or on behalf of Contractor or its employees and agents.

20. <u>Waiver</u>. No action or failure to act by the City shall constitute a waiver of any right or duty afforded City under this Agreement, nor shall any action or failure to act constitute an approval of or acquiescence in any breach thereunder, except as may be specifically provided in this Agreement or as may be agreed in writing.

21. <u>Severability</u>. Each provision, term, condition, covenant and/or restriction, in whole and in part, in this Agreement shall be considered severable. In the event any provision, term, condition, covenant and/or restriction, in whole and/or in part, in this Agreement is declared invalid, unconstitutional, or void for any reason, such provision or part thereof shall be severed from this Agreement and shall not affect any other provision, term, condition, covenant and/or restriction of this Agreement and the remainder of the Agreement shall continue in full force and effect.

22. <u>Authority</u>. The individuals executing this Agreement and the instruments referenced herein on behalf of Contractor each represent and warrant that they have the legal power, right and actual authority to bind Contractor to the terms and conditions hereof and thereof.

23. <u>Entire Agreement</u>. This Agreement constitutes the final, complete, and exclusive statement of the terms of the agreement between the parties pertaining to the subject matter of this Agreement, and supersedes all prior and contemporaneous understandings or agreements of the parties. Neither party has been induced to enter into this Agreement by, and neither party is relying on, any representation or warranty outside those expressly set forth in this Agreement.

IN WITNESS WHEREOF the parties hereto have caused this Agreement to be executed the day and year first above written.

CITY OF RIVERSIDE, a California charter city and municipal corporation

By: \_

City Manager

doing business as SCOTT TRACTOR,

MERRIE (MARY) SCOTT, sole proprietor

By: Jame]

\_\_\_\_\_

Attest:

City Clerk

Certified as to Availability of Funds:

By: Chief Financial Officer

By: \_\_\_\_\_

[Printed Name]

JUZALer

[Title]

[Title]

Approved as to Form:

Susan Ulison /for By:

Ruthann M. Salera Deputy City Attorney

CA#22-0914 RMS 6/10/22 \\Rc-citylaw\cycom\WPDOCS\D010\P034\00658232.DOC

# EXHIBIT "A"

Compensation Schedules

(Inserted behind this page)

City of Riverside	
RPU Weed Abalement and Trash Removal (RPU-7911). Sidding on 04 26/2022 3:00 PM (PDT)	

ltem #	Item Code	Туре	Item Description	UOM	QTY	Unit Price	Line Total	Response	Comment
D RPU-79	911 - Bid Line items - Schedule A						\$143,880.00		
	SB101 - Scheuer Well	6.5	i	EA	4	\$690.00	\$2,760.00	Yes	
	SB102 - 6TH St. CL2	1.5	1	EA	4	\$150.00	\$600.00	Yes	
	SB103 - Garner Well Track	17	5	EA	4	\$2,000.00	\$8,000.00	Yes	
	SB104 - Frazer Well Track	0.5	i	EA	4	\$50.00	\$200.00	Yes	
	SB105 - Cooley Well Track North	4.3	5	EA	4	\$465.00	\$1,860.00	Yes	
	SB106 - Cooley Well Track South	6.7	5	EA	4	\$740.00	\$2,960.00	Yes	
	SB107 - California Parcel	6.7	5	EA	4	\$745.00	\$2,980.00	Yes	
	SB108 - Amazon Parcel	5.5	i	EA	4	\$100.00	\$400.00	Yes	
	SB109 - Central Parcel	6.5	i	EA	4	\$745.00	\$2,980.00	Yes	
I	SB110 - Riverview Parcel	6.	:	EA	4	\$200.00	\$800.00	Yes	
	SB111 - NPDES Ponds	7		EA	4	\$700.00	\$2,800.00	Yes	
	SB112 - Raub Weil Track	2		EA	4	\$200.00	\$800.00	Yes	
	SB113 - Thorn #12 Well Parcel	0.1		EA	4	\$50.00	\$200.00	Yes	
	SB114 - E St. Parcel	3.5	i	EA	4	\$50.00	\$200.00	Yes	
	SB115 - Johnson Well #4	0.1		EA	4	\$50.00	\$200.00	Yes	
	SB116 - Colton Parcel	2		EA	4	\$1,720.00	\$6,880.00	Yes	
	SB117 - M St. Parcel	9		EA	4	\$1,000.00	\$4,000.00	Yes	
	SB118 - Flume Well Track	9		EA	4	\$1,000.00	\$4,000.00	Yes	
	SB119 - JW Access Road	1.9	i	EA	4	\$200.00	\$800.00	Yes	
	SB120 - Grand Terrace Parcel	0.3	:5	EA	4	\$25.00	\$100.00	Yes	
	SB121 - Mt. Vernon PS Station	0.1	I	EA	4	\$25.00	\$100.00	Yes	
	SB122 - Pellisier Ranch Parcel	44		EA	4	\$4,000.00	\$16,000.00	Yes	
	SB123 - Jurupa Weil #7	0.1	1	EA	4	\$200.00	\$800.00	Yes	
	R201 - Highgrove Parcel	0.3	15	EA	4	\$25.00	\$100.00	Yes	
	R202 - Electric St. Parcel	0		EA	4	\$0.00	\$0.00	Yes	
	R203 - Springbrook Parcel	2		EA	4	\$25.00	\$100.00	Yes	
	R204 - Riverside Golf Course	12	4	EA	4	\$8,000.00	\$32,000.00	Yes	
	R205 - Hunter Substation Well	1.	i	EA	4	\$180.00	\$720.00	Yes	
	R206 - Spruce Parcel	0.1	I	EA	4	\$190.00	\$760.00	Yes	
	R207 - Cunningham Well	1		EA	4	\$760.00	\$3,040.00	Yes	
	R208 - Heustis Reservoir	1.	5	EA	4	\$1,700.00	\$6,800.00	Yes	
	R209 - Ross Reservair	2		EA	4	\$400.00	\$1,600.00	Yes	
	R210 - Date Rack	0.1	I	EA	4	\$570.00	\$2,280.00	Yes	
	R211 - Chase Booster Station	2.7		EA	4	\$590.00	\$2,360.00	Yes	
	R212 - Jurupa Parcel	5		EA	4	\$50.00	\$200.00	Yes	
	R213 - Wilderness Parcel	5		EA	4	\$550.00	\$2,200.00	Yes	
	R214 - Jackson Parcel	0.:	25	EA	4	\$50.00	\$200.00	Yes	
	R215 - Gibson Parcel	1.1		EA	4	\$125.00	\$500.00	Yes	
	R216 - Mockingbird Reservoir	6.1		EA	4	\$1,850.00	\$7,400.00	Yes	
	R217 - Mockingbird Parcel	9		EA	4	\$1,000.00	\$4,000.00	Yes	
	R218 - Firethorn Parcel	3		EA	4	\$330.00	\$1,320.00	Yes	
	R219 - Van Buren Reservoir	2		EA	4	\$220.00	\$880.00	Yes	
	R220 - Tyler/Balmoral Parcei	5		EA	4	\$100.00	\$400.00	Yes	
	R220 - Tyler/Baimoral Parcel	4.		EA	4	\$500.00	\$2,000.00	Yes	
	R221 - Cook Parcel	4.		EA	4	\$200.00	\$800.00	Yes	
				EA	4	\$200.00	\$800.00	Yes	
	R223 - Raley Reservoir	1.				\$200.00	\$13,000.00	Yes	
	R224 - AB Brown Parcel	54		EA	4				
	R225 - Box Springs Mt. R T	0		EA	4	\$0.00	\$0.00	Yes	

ltem #	Item Code	Туре	Item Description	UOM	QTY	Unit Price	Line Total	Response	Comment
49	SB101 - Scheuer Well		3+D2:D39,200 Feet	EA	4	\$1,000.00	\$4,000.00	Yes	
50	SB102 - 6TH St. CL2		1050 Feet	EA	4	\$300.00	\$1,200.00	Yes	
51	SB103 - Garner Well Track		4,890 Feet	EA	4	\$1,800.00	\$7,200.00	Yes	
52	SB104 - Frazer Well Track		285 Feet	EA	4	\$180.00	\$720.00	Yes	
53	SB105 - Cooley Well Track North		1,200 Feet	EA	4	\$640.00	\$2,560.00	Yes	
54	SB106 - Cooley Well Track South		2,800 Feet	EA	4	\$1,000.00	\$4,000.00	Yes	
55	SB107 - California Parcel		600 Feet	EA	4	\$160.00	\$640.00	Yes	
56	SB108 - Amazon Parcel		3,400 Feet	EA	4	\$700.00	\$2,800.00	Yes	
57	SB109 Central Parcel		4,500 Feet	EA	4	\$400.00	\$1,600.00	Yes	
58	SB110 - Riverview Parcel		1,500 Feet	EA	4	\$800.00	\$3,200.00	Yes	
59	SB111 - NPDES Ponds		4,500 Feet	EA	4	\$1,900.00	\$7,600.00	Yes	
60	SB112 - Raub Well Track		3,000 Feet	EA	4	\$700.00	\$2,800.00	Yes	
61	SB113 - Thorn #12 Well Parcel		550 Feet	EA	4	\$160.00	\$640.00	Yes	
62	SB114 - E St. Parcel		1,700 Feet	EA	4	\$1,000.00	\$4,000.00	Yes	
63	SB115 - Johnson Well #4		0 Feet	EA	4	\$0.00	\$0.00	Yes	
64	SB116 - Colton Parcel		0 Feet	EA	4	\$0.00	\$0.00	Yes	
65	SB117 - M St. Parcel		3,200 Feet	EA	4	\$1,100.00	\$4,400.00	Yes	
66	SB118 - Flume Well Track		0 Feet	EA	4	\$0.00	\$0.00	Yes	
67	SB119 - JW Access Road		2,500 Feet	EA	4	\$360.00	\$1,440.00	Yes	
68	SB120 - Grand Terrace Parce!		400 Feet	EA	4	\$360.00	\$1,440.00	Yes	
69	SB121 - Mt. Vernon PS Station		150 Feet	EA	4	\$180.00	\$720.00	Yes	
70	SB122 - Pellisier Rench Parcel		0 Feet	EA	4	\$0.00	\$0.00	Yes	
71	SB123 - Jurupa Well #7		0 Feet	EA	4	\$0.00	\$0.00	Yes	
72	R201 - Highgrove Parcel		150 Feet	EA	4	\$100.00	\$400.00	Yes	
73	R202 - Electric St. Parcel		1,400 Feet	EA	4	\$1,200.00	\$4,800.00	Yes	
74	R203 - Springbrook Parcel		5,000 Feet	EA	4	\$1,500.00	\$6,000.00	Yes	
75	R204 - Riverside Goif Course		10.300 Feet	EA	4	\$2,000.00	\$8,000.00	Yes	
76	R205 - Hunter Substation Well		1,000 Feet	EA	4	\$180.00	\$720.00	Yes	
77	R206 - Spruce Parcel		0 Feet	EA	4	\$0.00	\$0.00	Yes	
78	R207 - Cunningham Weil		0 Feet	EA	4	\$0.00	\$0.00	Yes	
79	R208 - Heustis Reservoir		0 Feet	EA	4	\$0.00	\$0.00	Yes	
80	R209 - Ross Reservoir		1,200 Feet	EA	4	\$570.00	\$2,280.00	Yes	
81	R210 - Date Rack		0 Feet	EA	4	\$0.00	\$0.00	Yes	
82	R211 - Chase Booster Station		0 Feet	EA	4	\$0.00	\$0.00	Yes	
83	R212 - Jurupa Parcel		1,000 Feet	EA	4	\$150.00	\$600.00	Yes	
84	R213 - Wilderness Parcel		1,000 Feet	EA	4	\$400.00	\$1,600.00	Yes	
85	R214 - Jackson Parcel		800 Feet	EA	4	\$360.00	\$1,440.00	Yes	
86	R215 - Gibson Parcel		250 Feet	EA	4	\$360.00	\$1,440.00	Yes	
87	R216 - Mockingbird Reservoir		0 Feet	EA	4	\$0.00	\$0.00	Yes	
88	R217 - Mockingbird Parcel		900 Feet	EA	4	\$1,100.00	\$4,400.00	Yes	
89	R21B - Firethorn Parcel		300 Feet	EA	4	\$360.00	\$1,440.00	Yes	
90	R219 - Van Buren Reservoir		1,500 Feet	EA	4	\$1,450.00	\$5,800.00	Yes	
91	R220 - Tyler/Balmoral Parcel		5,000 Feet	EA	4	\$2,100.00	\$8,400.00	Yes	
92	R221 - Cook Parcel		200 Feet	EA	4	\$360.00	\$1,440.00	Yes	
93	R222 - Tilden Reservoir		3,000 Feet	EA	4	\$2,200.00	\$8,800.00	Yes	
94	R223 - Raley Reservoir		300 Feet	EA	4	\$860.00	\$3,440.00	Yes	
95	R224 - AB Brown Parcel		5,000 Feet	EA	4	\$1,400.00	\$5,600.00	Yes	
96	R225 - Box Springs Mt. R T		200 Feet	EA	4	\$200.00	\$800.00	Yes	
	7911 - Bid Line Items - Schedule c			-		4050	\$10,500.00	N	
97			Veg & Miscellaneous Trash	Топ	10	\$350.00	\$3,500.00	Yes	

RPU Weed Abatement and Trash Removal (RPU-7911), bidding on 04/26/2022 3:00 PM (PDT)

ltem #	Item Code	Туре	Item Description	UOM	QTY	Unit Price	Line Total	Response	Comment
98			Concrete & Asphalt	Ton	10	\$200.00	\$2,000.00	Yes	
99			Metal	Tom	10	\$200.00	\$2,000.00	Yes	
100			Tires	Ton	10	\$300.00	\$3,000.00	Yes	

### Line Item Subtotals

Section Title		Line Total
BID RPU-7911 - Bid Line Items - Schedule A		\$143,880.00
BID RPU-7911 - Bid Line Items - Schedule B		\$118,360.00
BID RPU-7911 - Bid Line Items - Schedule c		\$10,500.00
	Grand Total	\$272,740.00

,

## WORKERS' COMPENSATION CERTIFICATION

I am aware of the provisions of Section 3700 of the Labor Code which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

DATED: 6-15=22

MERRIE (MARY) SCOTT, sole proprietor doing business as SCOTT TRACTOR

By Maatt